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QUESTION 1

Which three actions would be performed on traffic traversing an IPsec VPAN? (Choose three.) 

A. Port forwarding 

B. Authentication 

C. Encryption 

D. Deep inspection 

E. Payload verification 

Correct Answer: BCE 

 

QUESTION 2

Which actions would be applied for the pre-ID default policy unified policies? 

A. Redirect the session 

B. Reject the session 

C. Log the session 

D. Silently drop the session 

Correct Answer: C 

 

QUESTION 3

Which two statements are correct about security zones? (choose two) 

A. Security zones use packet filters to prevent communication between management ports 

B. Security zones use security policies that enforce rules for the transit traffic 

C. Security zones use a stateful firewall to provide secure network connections 

D. Security zones use address books to link username to IP addresses. 

Correct Answer: BC 

 

QUESTION 4

Which two feature on the SRX Series device are common across all Junos devices? (Choose two.) 

A. Stateless firewall filters 
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B. UTM services 

C. The separation of control and forwarding planes 

D. screens 

Correct Answer: AC 

 

QUESTION 5

Users on the network are restricted from accessing Facebook, however, a recent examination of the logs 

show that users are accessing Facebook. 

Referring to the exhibit, 

Why is this problem happening? 

A. Global rules are honored before zone-based rules. 

B. The internet-Access rule has a higher precedence value 

C. The internet-Access rule is listed first 

D. Zone-based rules are honored before global rules 

Correct Answer: D 
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